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§6. 1 SEDIEET AL INJEES

1. % cd = R—LT A ININEE)
2. % mkdir chapl8 = T4LVM)chap18%1ERk
3. % cd chapl8 = T4LMN)chapl8~&El

4. % netscapeZ{#->Tdatal8%chapl8~¥FO—F

5. % tar xvf datal8 = HUTILT—ENEE

pil.c
pi2.c
ndistl.c
ndist2.c
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3 3 2 2
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» B [X0 , Xn] DIRST OELUEI

{ (YO+4Y1+Y2) + (¥2+4Y3+.) .. (.+¥n) }d/3

§6. 2 LTI NHEREE)

H#define X0 0.0

#define Xn 2.0
double f (double x);

main (int arge, char **argv)
{

int n, 1, j;

double d, x, S;

if (arge !'= 2 || sscanf(argv[l], "%d", &n) != 1) {
fprintf (stderr, "usage: %s N\n", argv[0]);
exit(l);

n/2*2; d = (¥Xn-X0)/(double)n;
X0; S = £(x);

or (i=1l; i<=n; i+=2) {

x = X0+d*i; S += 4.0*f£(x);
x = X04+d* (i+l); S += 2.0*£(x);

S -= f(x);
S = s*d/3.0;

printf ("S=%27.20e\n", S); /* ROTVER */
exit (0) ;
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§6. 3 EUTHILEEIRE)

H#define X0 0.0
H#define Xn 2.0

#define Ymax 2.0
double f(double x, double y);

main (int arge, char **argv)
{
int n, seed, i, j;
double x, y;

if (argec '= 3 || sscanf (argv[l], "%d", &n) =1
| | sscanf (argv([2], "%d", &seed) !'= 1)
fprintf (stderr, "usage: %s loop seed\n", argv[0]);

exit(1l);

srand (seed) ;
for (i=0, j=0; i<n; i++) {

x = (double)rand()* (Xn-X0) / (double) RAND MAX;
y = (double)rand()* ¥Ymax /(double)RAND MAX;

if (f(x, y) < 0.0)
J++;
}

{

printf ("S=%27.20e\n", (Xn-X0)*Ymax* (double)j/(double)n); /* HRDTR */

exit(0);
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Xx+y=4 (0=x=2, 0=y=2)
EAEM%E[0,21£T 5.
» T DRDEE
2
f(x) =V(4-x) (0=x=2)

» EVTHIVDEDISE
R [0, 2]1<8BT5yDR/IMED 0F TEISEL.
yDBRKES 2% LESAL.
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pil.c ... YTV BRIZLEED
» T00 5 L0O5 BIINED DS D)

double f (double x)
{

return (sqrt(4.0 - x*x));

}

pi2.c ... BEVTHILEEIELL LD
» T05 5 LO5BIEN(ROBEE S UELEDFE

double f(double x, double y)
{

return (x*x + y*y - 4.0);

}
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1.

LT B
% gcc pil.c -o pil -1m

. RAT

% ./pil
usage: ./pil N

$ ./pil 100
S= 3.14113320533922646405e+00

$ ./pil 10000
S= 3.14159219433824032919e+00

% ./pil 1000000
S= 3.14159265313050140023e+00
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. LT B,

% gcc pi2.c -o pi2 -1m

. RAT

% ./pi2
usage: ./pi2 loop seed

$ ./pi2 100 1
S= 3.31999999999999984013e+00

$ ./pi2 10000 1
S= 3.13560000000000016485e+00

$ ./pi2 1000000 1
= 3.14306399999999985795e+00
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ndistl.c ... YTV RIZLBED
» TS5 LO5 IBIINGE S EED S 2%

double f (double x)

{
return (1.0/sqrt(M _PI)*exp(-x*x));

}

ndist2.c ... EVTHILEEHZKSLD
» 7055 L0O5 BIIN(RDBEE LU ELEDFE

double f (double x)
{

return (1.0/sqrt(M _PI)*exp(-x*x));
}
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% gcc ndistl.c -o ndistl -1m

. RAT

% ./ndistl
usage: ./ndistl N

% ./ndistl 100
S= 4.99999999999230837489%e-01

% ./ndistl 10000
S= 4.99999999999233279979%e-01

% ./ndistl 1000000
= 4.99999999999229560732e-01
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. LT B,

% gcc ndist2.c -o ndist2 -1m

. RAT

% ./ndist2
usage: ./ndist2 loop seed

% ./ndist2 100 1
S= 3.49999999999999977796e-01

% ./ndist2 10000 1
S= 4.91499999999999992450e-01

% ./ndist2 1000000 1
= 4.99495000000000022311e-01
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